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HARHBHBHA RSB AR AR AR A RHB AR HARHBHBHARHRHBHY
# FE8E RAMEFEARETIILOHE
HUERHBHBHAH SR HBHBH SR BB HBHAHBRHBHBHA RSB HBHY
# TR MT—RDHIHAH

data(MYE1F)

#lsar EFEEOXE~DBENDE
#
Isar(MYE1F, max.arorder = 10, nsO = 200)

# lasr.chgpt ZLRFRDBEE LT

#

# PREERZ OHETE

#

Isar.chgpt(MYE1F, max.arorder = 10, subinterval = ¢(400,800), candidate = ¢(600,700))

#
# SIHRNERZDHTE
#
Isar.chgpt(MYE1F, max.arorder = 10, subinterval = ¢(800,1200), candidate =
c(1000,1100))

#

# B R DERERDETE

#

# PROEERZ D

#

x <- Isar.chgpt(MYE1F, max.arorder=10, subinterval = c(400,800), candidate =
c(600,700))

AICP <- x$aic

post <- exp( -(AICP-min(AICP))/2)
post <- post/sum(post)
plot(post,type="1",col="red" lwd=2)

#

# SIE DR ERZ A

#

x <- Isar.chgpt(MYE1F, max.arorder = 10, subinterval = ¢(800,1200), candidate =
c(1000,1100))

AICP <- x$aic
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post <- exp( -(AICP-min(AICP))/2)
post <- post/sum(post)
plot(post,type="1",col="red" lwd=2)
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